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This proves that we write a receipt — 23 201 NARIN NNT

OVERVIEW?

72X °27 maintains that from our 72w» we can prove that 1212 1°2m3. The Mo
is not required to return the 2117 VW to the M> in order to receive payment; he
can offer him a receipt instead (if he claims that he lost the rn"vw). The proof
1s from the fact that in our 71wn the husband must pay the 772103 based on the
testimony of the X»11°7 7y, even though he is not receiving the 72102 in
return. All the husband can demand is a 721w. The discussion whether 7°201
72w or not, is in a situation where there is a suspicion that the 1"vw exists. If
however we know for certain (through 2>7v) that the n"vw exists no longer,
then it is obvious that the % must pay and can only receive a 12.

Mmoo anticipates a difficulty with the proof that X" brings from our mwn:
- 9WAN NY NINT 2) by 9N

Even though that here it is impossible any other way, for there are times when

the husband has no choice but to accept a receipt. md01n explains why this is so:
= NN TP NO2N XITNY DYV NNIND PNIYN N1IDT YNNI RIINT

for there is a concern that perhaps she will burn her 72> in the
presence of witnesses and she will return to her husband and collect the

72100 with K217 57 —
= N2 NN YTY2 RPONI NITH NN 79903 19999N71

As the xn»72 will shortly state; that if she burns her o> 192 72102, she can
collect with ®m11°17 >7v. In addition the X3 states that after she collected once

with the 811177 >79, perhaps she will produce X211%7 57¥ again and collect a

second time.” The husband will not be able to claim *ny1 (the second time) —
= 921WY NN PIPT 19 DY DIV 9N ND 17 %2 NYYN NN IWIVN 9INT INID

according to the one who maintains that he who counterclaims a mwy»
72 has said nothing; his claim is denied* and therefore since she can

" This Mmoo and the previous w1 7"7 Moo, complement each other.

* See ‘Overview’ to previous W91 1"7 MO0,

3 Perhaps Mmoo depends on the X3 to bolster his claim that she will collect twice with XA *7v.
Seemingly the X177 *7v will not testify for her twice in two 7"°3; they will realize that something is amiss.
mooIn therefore cites the X3, which clearly states that there is a concern that she will collect twice with
X177 27v. The explanation is (as *"wA states in 712 7"7) that she can find many different X11°7 *7v, who will
testify at different 7""2.

* It is the ruling of this 7"» that allows her originally to burn her 712103, without any fear that she will not be
paid. A 7791 on the other hand will never burn his 0>7¥2 q0Ww; there is a concern that the 772 will claim *nyo.
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always burn her 72102 he is dependent on a =2Y; there is no other way to
protect himself. mM»oIn asks that since by 72112 there are circumstances in which the
woman can force him to accept a 72w, therefore in general by a 72103 we allow her to
collect by merely writing a 72w, without returning the 721n3. However by loans in
general where the m°n cannot collect unless he produces the “vw, for otherwise, the m?
can claim °ny19, there the 17 can be that 72w 1°2m> X and the 71%» must return the “ww
in order to collect his debt. There is no proof from the fact that 92w 1°2n13 by a 72102, that
the 77 should also be 721w Pan1d by a man.

moon responds that indeed there is proof from a 72112 to a Mon:
- 921V 125 ) NNIYYAT 929V 727 01PN Yon

nonetheless; despite the issue just raised, the X3 correctly infers from this

77 of 721> that in general, by loans also, we can write a 9312, and the Mm%

is not obligated to return the 0w —
= IND V99 NNY NNTYI AN PN INT

For if in general, by loans, we cannot write a receipt; but rather the m>n is
required to return the 70w in order to protect the rights of the Mm%, then why

should the husband pay the 72115 here in our case, without receiving the 72103 in

return —
- 51)\0‘1’9‘19 1752 HAININY NN 1090 1Y NaAY 1w "2

since the husband can incur a loss from the fact that the 72302 is in her

possession as we explained (in the previous maown) that if the woman has no 7y
NI or it is MWK XAW 701 PRY 0pn2, the husband loses by the fact that the 72102 is
a7°2.

SUMMARY

Even though the woman can occasionally force the husband to accept a
receipt instead of the 721n3, nonetheless she should not be entitled to have
him pay, without her returning the 72102, unless we maintain that 7212 7°2n12.

THINKING IT OVER

Why, in the X2, did m»doIN assume that we cannot prove from our 7wn
that 727 1P2n1> (since she can burn the 772102); and in the answer N©®OIN
assumes that we can infer from our 7Iwn that 22w 12m> (since the husband
may incur a loss)? What changed from the X217 to the y17°n?!

Swim o,
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REVIEWS

There is a dispute between 172X 27 and X595 27 concerning the right of the
M1 to offer the M> a receipt in lieu of returning the 2117 TvW. X'"7 maintains,
that since the Mm% admits that he owes the m%» money, he must repay him,
even though the m%» claims that he cannot return the n"vw. The M? can only
demand that he be given a receipt to prove that he paid the loan. X955 27 is of
the opinion that the Mm% is not required to repay the loan, until the m>»
returns the 70w. The MY can claim that a receipt is not sufficient, for perhaps,
the m> will lose the receipt and the mbY» will produce the 70w and thereby
fraudulently collect the payment a second time. X"7 views the rights of the
mYn paramount (since the M admits to owing the money), therefore an>
"2w, while ¥99 11 is of the opinion that the rights of the Mm% must be
guaranteed (the m%» must either produce the qww or bring 0>7v that it was
burnt, etc.) and therefore 2212 12010 PX.

Our 71wn states that a woman can collect her 72102 based on the X177 >7v.
She is not required to produce the 721n3. The X723 concluded that if we
assume that the mIwn is discussing places where the custom is to write a
72103, then this presents a complication for "7 and proof for X"9. The fact
that the husband is required to pay without receiving the 72113 in return,
supports the view of X"9, that a 92w is sufficient to placate the payer; the
original loan document need not be returned.

Mmoo has two general difficulties with this proof from our 71wn in M21N2,
regarding the case of a loan. One difficulty is dealt with in the 73"7 mpoIN
WI?Y; the other in nX7 7"7 MooIN. Both questions are according to the 7"n
that 2190 R X7 72 qwyn IR 057; that the husband cannot claim °nyao if
she demands her 712103, unless he has either the 72113 or a 712w to prove that
he already paid her. Otherwise the woman can always claim that her 72102
was not paid up yet. This makes a loan very different from a 721n3. By a loan
the M>» must have the VW in his possession in order to make a claim; for
otherwise the M7 can claim °ny15. However a woman does not require a
72102 in order to claim her payments, for the husband cannot claim >ny-s.

® This is a review of the two w1 1"7 Moo and NxT 77
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The first question argues that we cannot prove anything from our 7wn. It is
possible that by a loan the ruling is that 12w Pam> 7°X; the M cannot
collect unless he returns the n"vw to the m%. The MY has a valid claim: if the
70w 1s not returned and I lose the receipt, I may have to repay the loan again.
If however the n"vw is returned to the Mm%, he will have nothing to be
concerned of in the future, for even if the M claims that he was not paid,
the m> will not have to pay him, since the m>» has no “vw. However by a
72N, there is seemingly no difference to the husband whether she returns
the 72102 or writes him a 72w. Either way he will need to guard them. For if
he loses the 72103 or the 7127w the woman can claim that she was never paid.
Therefore since there is no difference to the husband, the rule is that she
need not produce the 72102.

MooIN answers that there is a difference to the husband whether or not she
returns the 72102. The difference is in a situation where the woman cannot
find ®m7 >7y, or in a place where no one knows that they were once
married. In these situations if she will have returned the 72105 (even if the
husband loses it), she cannot claim that >InXw3 79102 for she has no X177 7.
In the latter case she cannot claim anything at all for the husband has a 1
that ‘you are not my wife’. If however she merely wrote him a 721 and he
lost it, then she will be able to claim her 72102 a second time based on the
7203 in her possession. Therefore; since the husband stands to lose by her
retaining the 72103, and nevertheless we maintain that she collects without
returning the 72102, this is ample proof that 721w 7°2n12.

The second question of Moo is that there is another difference between
72100 and a loan. In the case of 7210, the wife can force the husband to
accept a receipt (and not the 721n3). She has the ability to burn the 721102 in
the presence of 0°7¥ (before she was paid anything). She then comes to 7"°2
with the ¥m1°7 *7v and collects. The husband cannot demand the 72113
because she has 0°7¥ that the 72103 is burnt. He is forced to be satisfied with
a 72w. The husband will be forced to guard this 721, since his wife can
always come back and demand payment. NMd01n seems to be arguing that
since the woman has the power to make him accept a 72w (if she burns the
1721n2), then this power should be applied in all cases even if she has no o7V
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that she burnt the 721n5.” However by a loan the Mm% cannot afford to burn
the 7w, for if he were to do so the Mm% can claim >ny1. There is no way in
which the mn can ‘force’ the m? to accept a 12, therefore the 1°7 is that PR
722 72and. There is no proof from 72102,

MvoIN answers, that even though the woman can force the husband to accept
a 12w if she burns the 712102, nevertheless as long as the 72113 was not burnt,
she should be obligated to return it to him upon payment, since it is possible
that he may suffer a loss if it remains in her possession (as explained in the
answer to question one). The fact she may collect without returning the
71202 indicates that 121w 772010

7 This is somewhat similar to a 1 argument ([especially] if we assume that the minx1 of a 3 is based on
the 73vvn MOT).
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